
125 STING/100 '97 <1997><EU><112676>
FRONT BRAKE CALIPER

30022

Pos Part Number Description Additional Text Quantity

1 58313201044 % BRAKE CALIPER FRONT GOLD DUK 1.00

2 58313205000 * REPAIR KIT 4 PISTON+GASKET 1.00

3 54513214000 BLEEDER SCREW M10X1 1.00

4 58313209000 BRAKE PAD SET FRENDO 222 1.00

5 58313210000 BOLT SET 1.00

6 0912100303 AH SCREW DIN0912-M10X30 2.00

8 58313211000 RETAINING SPRING 1.00

10 51113029000 BRAKE HOSE L=940MM STING'97 1.00

11 50213025000 HOLLOW SCREW M10X1X19 FC, FE+FS (USA) 1.00

12 42013226000 CU-SEAL RING DIN7603-10X16X1 1.00

13 42013026000 CU-SEAL RING DIN7603-10X16X1,5 1.00

15 58301294000 BRACKET FOR BRAKE HOSE DUKE 1.00

16 56501092000 CLAMP 2.00

17 0912060123 AH SCREW DIN0912-M 6X12 3.00

18 0014060103 HH COLLAR SCREW M 6X10 WS=8 2.00


